BEAM Maths of the Month

What’s the pattern?

A, B, C and D form a pattern. But D has not
been done yet.

1. How many white dots should D have to
complete the pattern? And how many black?

2. What fraction of the dots in D should be white?

And what fraction black?

A B
OO0 © & 00 000 00
ONON BN BN BN 000 00
ONON BN BN NN OO0 © & 00
OO0 © & 00 OO0 © & 00
C D

000 00 O OO 00O
0060 00 O OO O0OO0O0
0 00 00 O OO 00O
ONON B BN BN O OO 00O

Imagine pattern D. What percentage of it should be black?
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Use squared or dotty paper to make up a puzzle
like this for a friend to do.
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